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A - 2506—0.041
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g(t) =2cos[4(t+5)]+3

F(x)=3(x+2)*(x=2)(x ~1)

D
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"0 21,0460 — EAY =4.6%

3=e"0%" 5103 =0.045t — 1 = 24.4yrs
(3655
5049.29 = 4000( 1+ — — r =0.047
365

365
EAY = (1 +%) =1.048 = EAY = 4.8%.

Using a graphing utility, H =50z +99

H(10)=50(10)+ 99 = 599. By extrapolating, we predict that there will be 599 hawks in
year 10.

M (¢) = 700,000%01°6
Yes. 1200H(f) = M(¢)

1200(507 +99) = 700,000¢%01°¢
Using a graphing utility, ¢ =12.

_P(t)  65+350¢% +60°

C(1) =
V() 1207 +3t% +275¢ + 650

P(5)=P(0) _ 9500

P(0) =65 and P(5) =9565 — Avg.change = =1900 million ft3per year.

5-0
C(O)=£=O.l=10%.
650
6
As t = o, C(t) = —=0.05=5%.
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B. 1. pislarger, since as x — % f rises faster than g.

2. bislarger. Notice thatat x =1, g(x)> f(x).

. A 1. dy=6+4cos(0)e” =10. d, =5+3cos(0)e” =8.

t t

— 5.

2. Ast goes to infinity, 6+ 4cos(wt)e”
3. Using a graphing utility, 7 = 0.40

— 6 and 5+ cos(27t)e”

B. 1. Since 12 = 27” —bh= %. Als062~22 = 40. Therefore, A(r) = 42-20cos (Z+)

2. Using a graphing utility, t =3 and t =11.

Sometimes
Never
Always
Never
Sometimes
Always
Sometimes
Never
Sometimes
Always
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